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3. sinA= % & o, cos AtanA 9] g £5toiz=t.
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4. o 139 A sinx, cosx, tanx & FS x| 2 F5ho] =t

Eh sinx =
EF: cosx =

7 EF tanx =
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sin? 30 ° 4 sin? 60 ° — tan 30 ° x tan 60 °
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7. T 292 W25 Zol7t 190 AR flofl A4 2te & 19
ZAo]t}. sin 50°, cos 50°, tan 50° = AE 0 2 Lpelofg},

a & sinh0° =
a &l cos50° =
L g tan50° =



@ 0<cosx<1

@ -1<tanx<0

@ 0<sinx<1

® -l1<sinx<1

@ 0<tanx<1



9. o3 I"A «C = 90° o,

sin A + cos A 2] gt&9 AN
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(sin) (cos) (tan)
52° 0.7880 0.6157 1.2799
53° 0.7986 0.6018 1.3270
54° 0.8090 0.5878 1.3764
55° 0,8192 0.5736 1,4281
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